



St. Louis County, Minnesota

Date of Report: 9/21/2025 1:50:13 AM

General Details

 Parcel ID:
 280-0015-00930

 Document:
 Torrens - 291757

 Document Date:
 06/20/2002

Legal Description Details

Plat Name: CANOSIA

Section Township Range Lot Block

30 51 15

Description: E 100 FT OF W 233 FT OF LOT 1

Taxpayer Details

Taxpayer NameAHLERS STEVEand Address:5892 N PIKE LAKE RDDULUTH MN 55811

Owner Details

Owner Name AHLERS DIANE

Owner Name AHLERS STEVEN DOUGLAS

Payable 2025 Tax Summary

2025 - Net Tax \$11,381.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$11,410.00

Current Tax Due (as of 9/20/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$5,705.00	2025 - 2nd Half Tax	\$5,705.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$5,705.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$5,705.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$5,705.00	2025 - Total Due	\$5,705.00	

Parcel Details

Property Address: 5892 N PIKE LAKE RD, DULUTH MN

School District: 704
Tax Increment District: -

Property/Homesteader: AHLERS, STEVE & DIANE

Assessment Details (2025 Payable 2026)									
Class Code Homestead Land Bldg Total Def Land Def Bldg Net Tax (Legend) Status EMV EMV EMV EMV EMV Capacity									
201	1 - Owner Homestead (100.00% total)	\$191,600	\$527,200	\$718,800	\$0	\$0	-		
207	0 - Non Homestead	\$74,500	\$295,300	\$369,800	\$0	\$0	-		
	Total:	\$266,100	\$822,500	\$1,088,600	\$0	\$0	12358		





St. Louis County, Minnesota

Date of Report: 9/21/2025 1:50:13 AM

Land Details

 Deeded Acres:
 3.00

 Waterfront:
 PIKE

 Water Front Feet:
 104.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc: -

 Sewer Code & Desc:
 P - PUBLIC

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

		Improvem	ent 1 Deta	ails (SOUTH S	FD)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
HOUSE	1940	1,44	42	2,110	GD Quality / 933 Ft ²	1S+ - 1+ STORY
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	6	9	54	FOUNDAT	TON
BAS	1	6	24	144	WALKOUT BA	SEMENT
BAS	1	8	24	192	WALKOUT BA	SEMENT
BAS	1	24	16	384	WALKOUT BA	SEMENT
BAS	2	0	0	524	WALKOUT BA	SEMENT
BAS	2	9	16	144	FOUNDAT	TON
DK	1	0	0	254	PIERS AND FO	OOTINGS
DK	1	0	0	326	PIERS AND FO	OOTINGS
Bath Count	Bedroom Co	ount	Room C	Count	Fireplace Count	HVAC
					_	

3.25 BATHS 3 BEDROOMS - 3 C&AIR_COND, GAS

Improvement 2 Details (FLAT ROOF)											
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.					
GARAGE	1989	96	0	960	-	DETACHED					
Segment	Story	Width	Length	Area	Foundat	ion					
BAS	1	24	16	384	FLOATING	SLAB					
BAS	1	24	24	576	FLOATING	SLAB					

			Improver	nent 3 De	etails (2 STY DG))	
ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	GARAGE	1958	1,29	92	1,712	-	DETACHED
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	2	16	32	CANTILEVER	
	BAS	1	2	30	60	CANTILEVER	
	BAS	1	26	30	780	FLOATING SLAB	
	BAS	2	14	30	420	-	
	DKX	1	6	5	30	-	





St. Louis County, Minnesota

Date of Report: 9/21/2025 1:50:13 AM

		Improvem	ent 4 Deta	nils (SAUNA+[OK)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
SAUNA	1940	360				-
Segment	Story	Width	Length	Area	Founda	tion
BAS	1	18	20	360	FOUNDA	
DKX	1	8	16	128	CANTILE	_
DKX	1	18	20	360	CANTILE	
		Improvem	ent 5 Deta	ails (NORTH A		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc
GARAGE	2005	1,17	76	1,176	-	ATTACHED
Segment	Story	Width	Length	Area	Founda	tion
BAS	1	28	42	1,176	FOUNDA	TION
		Improven	nent 6 Det	ails (AT ROA	D)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc
GARAGE	2008	1,93		1,936	-	DETACHED
Segment	Story	Width	Length	Area	Founda	
BAS	1	44	44	1,936	FOUNDA	
LT	1	11	27	297	POST ON G	ROUND
	·					
Improvement Type	Year Built	Main Flo		ails (NEW 201 Gross Area Ft ²	Basement Finish	Style Code & Desc
GARAGE	2015	1.00		1.007	-	DETACHED
Segment	Story	Width	Length	Area	Foundation	
BAS	3 .01 y	0	0	1,007	FOUNDATION	
DKX	1	5	6	30	1001107	IION
BIOX	·				FD \	
		-		ils (NORTH S	•	0.1.0.1.0.5
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc
HOUSE	2005	1,56		1,568	ECO Quality / 1176 Ft ²	
Segment	Story	Width	Length	Area	Founda	
BAS	1	28	56	1,568	BASEMI	
DK	1	6	8	48	PIERS AND F	
DK Deth Count	1 Destructor Co.	6	31	186	PIERS AND F	
Bath Count	Bedroom Cou		Room C	ount	Fireplace Count	HVAC
2.5 BATHS	3 BEDROOM				0	C&AC&EXCH, GAS
	Va an Badh	-		etails (PATIO 1	•	Otala Os da O Dasa
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc
	0	338		338	<u> </u>	PLN - PLAIN SLAB
Segment	Story	Width	Length	Area	Founda	tion
BAS	0	13	26	338	-	
		-		etails (PATIO	•	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc
	0	36		36	-	PLN - PLAIN SLAB
Segment	Story	Width	Length	Area	Founda	tion
BAS	0	6	6	36	-	





St. Louis County, Minnesota

Date of Report: 9/21/2025 1:50:13 AM

		Sales Reported	to the St. Louis	County Auditor				
Sa	ale Date		Purchase Price		CRV Number			
C	06/2002		\$70,000		,	147033		
		A	ssessment Histo	ory				
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV		
	201	\$191,600	\$502,100	\$693,700	\$0	\$0	-	
2024 Payable 2025	207	\$74,500	\$281,200	\$355,700	\$0	\$0	-	
	Total	\$266,100	\$783,300	\$1,049,400	\$0	\$0	11,867.00	
	201	\$174,400	\$436,600	\$611,000	\$0	\$0	-	
2023 Payable 2024	207	\$67,800	\$220,200	\$288,000	\$0	\$0	-	
,	Total	\$242,200	\$656,800	\$899,000	\$0	\$0	9,988.00	
	201	\$172,900	\$436,600	\$609,500	\$0	\$0	-	
2022 Payable 2023	207	\$67,200	\$220,200	\$287,400	\$0	\$0	-	
	Total	\$240,100	\$656,800	\$896,900	\$0	\$0	9,962.00	
	201	\$150,900	\$475,300	\$626,200	\$0	\$0	-	
2021 Payable 2022	207	\$58,700	\$184,900	\$243,600	\$0	\$0	-	
	Total	\$209,600	\$660,200	\$869,800	\$0	\$0	9,623.00	
		1	Γax Detail Histor	у			·	
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Buil MV		otal Taxable MV	
2024	\$10,111.00	\$25.00	\$10,136.00	\$242,200	\$656,800)	\$899,000	
2023	\$10,619.00	\$25.00	\$10,644.00	\$240,100	\$656,800)	\$896,900	
2022	\$11,543.00	\$25.00	\$11,568.00	\$209,600	\$660,200)	\$869,800	

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.